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AT7A4 KT PN 2FEL: FurTA618
#include <stdio.h>

#include <stdlib.h>

#include <math.h>

#define M 6 [* F—5 DT HE ¥
#define N 3 /* N RCTHTfEl */

[* X7 KO NT) ¥

p.-120

void input_vector2( double *b, char ¢, int n, FILE *fin, FILE *fout);

¥ ER AR MEBIRAT & T A RIE ¥/

void gauss2( double a[N+1][N+1], double b[N+1], int n );

I* fess 2 ATl ¥/

void least_square( double *x, double *y, FILE *fout );

int main(void)
{
FILE *fin, *fout;
double x[M], y[M];
[ 77 A NDF—T 1 ¥

if ( (fin = fopen( "input_func.dat", "r")) == NULL)
{

printf(" 7 7 A LoD £ A ¢ input_func.dat ¥n");

exit(1);
h

if( (fout = fopen( "output_func.dat", "w")) == NULL)
{

printf(" 7 7 A L MERK T E £ A ¢ output_func.dat ¥n");

\ exit(1);
input_vector2( x, 'x', M, fin, fout );
input_vector2(y, 'y', M, fin, fout );
least_square(x, y, fout ); /* /N 2 Felr{el */
fclose(fin); fclose(fout);
return 0;

b

/77 ANDra—X *

[* X7 kv x OAHT] ¥
[ X7 hvy OAHT *

void least_square( double x[M], double y[M], FILE *fout )

{
double a[N+1], p[N+1][N+1];
int1,j, ks
[* AT S VOVERR ¥/
for(i=0; i <= N; i++) {
alil=0.0;
for(j=0;j<M; j++)
alil += y[I*pow(x[jl,(double)i) ;

}
1* LRBATHNDONER */
for(i=0;1<=N;i++) 1
for(j=0;j<=1; j++) o
plil[j1=0.0;
for(k =0 k < M; k++) {
plil[j] += pow( x[k], (double)i+j) );

} pjllil = plil[l;

[N 1 AR A LS. fRITalc BEE ¥
gauss2(p, a, N+1);
I* FEROH T *

input_func.dat
00 02 04 06 08 1.0
2.0 212 1.62 2,57 153 2.0

output_func.dat
N7 BV FIROEY T

0.00 0.20 0.40 0.60 0.80
AR MLy dRo@EY T

2.00 2.12 1.62 2.57 1.53
e/ 2 F A
y= 0.38x"3-

1.00

2.00

0.76 x"2+ 0.28x"1+ 2.00x"0




fprintf( fout, "Fe/s 2 FEPIRIT y =");
for(i=N;i>=03;1-){

if(ali]>0){

ifG==N){

fprintf(fout, " %5.2f x*%d ", alil,1);
else{
fprintf(fout, "+ %5.2f x*%d ", alil,i);

}
h
elset

fprintf(fout, "- %5.2f x*%d ", fabs(alil),i);

h
fprintf(fout, "¥n");
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#include <stdio.h>

#include <stdlib.h>

#define N 9

[ R KILDAA */

void input_vector3( double b[N+1], char ¢, FILE *fin );
I* 20500 am ¥/

double lagrange( double x[N+1], double y[N+1], double

int main(void)

FILE *fin, *fout;

double x[N+1], y[N+1], xi;  /* xil&F@[Em */
printf("EE R EF AN L TLZELV-->");
scanf("%lf", &xi);

[ 27ANDEX—T *

if ( (fin = fopen( "input_lag.dat", "r")) == NULL }{

xi);

printf(" 7 7 A ILHAR DM Y FHA input_lag.dat ¥n");

exit(1);

if( (fout = fopen( "output_lag.dat", "w")) == NULL )

printf(" 7 7 4 JLHAMERL TEEEA output_lag.dat ¥n");

exit(1);

input_vector3( x, 'x', fin ); [ R MLxDAKA *
input_vector3(y,'y, fin);  /* RO L)Ly AHH *

/
/

prilrltﬂ"*ﬁlﬂnfl0).\;.§lis P(%)=%f¥n", xi, lagrange(x,y,xi) );

¥ G2 7% =OICERE T 74 ILICHA */
for( xi = x[0]; xi <= x[N]; xi += 0.01 {
fprintf(fout, "%f ¥t %f¥n", xi, lagrange(x,y,xi) );

fclose(fin); felose(fout); /* Z7A )LD O—X */
return 0;

}

input_lag.dat

[* 59520 1% %/

({iouble lagrange( double x[N+1], double y[N+1], double xi )

int i, k;
double pn = 0.0, 11;

/¥*P n(x)DETE */
for (i=0;1<=N;i++){
li=1.0;
F1LiDEE */
for(k = 0; k <= N; k++ ){
if(k!1=1) li *= (xi -x[k]) / x[i]-x[k]);

pn +=1i * ylil;

return pn;

/*bl0..NIDAA */

00 02 04 06 08 12 14 16 18 2.0

20 21 16 26 15 27 067 35 094 2.0

10

8

4 A

5

0 ——FRT1
05 15 o5 TR

goid input_vector3( double b[N+1], char ¢, FILE *fin )

nt 1;
for(i=0;1<=N;i++)

\ fscanf(fin, "%lf", &blil);




